

COUNCIL AGENDA STATEMENT



Meeting Date: February 10, 2026
To: Honorable Mayor and City Councilmembers
From: Brian Bradley, Deputy City Manager
Through George Garrett, City Manager
Agenda Item: City Vehicles

BACKGROUND & JUSTIFICATION:

Council had asked a series of questions involving city vehicles in an attempt to assess whether the City had too many vehicles. A list of vehicles and who they are driven by was put together.

. I did a comparison of other municipalities on their ratio of vehicles versus employees.

City of Marathon:

162 employees and 63 vehicles – 2.57 employees per vehicle

Islamorada VOI:

132 employees and 54 vehicles – 2.44 employees per vehicle

Key Colony Beach:

19 employees and 8 vehicles – 2.37 employees per vehicle

Monroe County:

600 employees and 355 vehicles – 1.69 employees per vehicle

In our area we have the lowest number of vehicles per employee.

In our fleet we have a total of 54 trucks and 9 cars. This does not include the Semi/sprinter vehicles (a total of 15) used by FIRE/EMS or Waste Water.

Additionally a question was asked about insurance premiums. If we choose a standard F150 a baseline to average out cost—that cost under our policy is \$600.87 dollars yearly,

So a standard F150, the price is \$600.87 for the yearly premium.

600.87 X 54 trucks = \$32,446.98 Total insured cost.

This is not exact as I chose an average style truck so the actual price is somewhat different.

The total cost of the fleet policy (96 things consisting of 18 trailers, 54 trucks, 9 cars, 15 various EMS, Semis and sprinters)

THIS TOTAL COST =

\$ 74,825

Year	Make	Model	Vehicle Type	Vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	Changes made	
2013	Ford	Ambulance	Fire-Rescue RT5	3HRRNF6G27DV783161	\$176,950.00	\$1,000	\$1,000	\$1,000.000	231415		
2007	Ford	F-150 PU	Maine	1FTHF12W17KB40473	\$5,800.00	\$1,000	\$1,000	\$1,000.000	X0157		
2007	Ford	F-150 PU	Public Works	1FTHF12227KB40472	\$5,800.00	\$1,000	\$1,000	\$1,000.000	221918		
2007	Pierce	Custom Contender	Fire - Engine E15	4PCCG01145740087678	\$337,000.00	\$1,000	\$1,000	\$1,000.000	X02738		
2007	Pierce	International	Fire Pumper E16 (rest)	1H835142086267	\$34,536.00	\$1,000	\$1,000	\$1,000.000	X02729	added back 10/1/2015	
2009	Pierce	Pumper	Tanker Fire T14	1H7WGAZ7791094123	\$29,000.00	\$1,000	\$1,000	\$1,000.000	212532		
2017	Ford	F-150	Fire-Trailer	1F7JL62X300143038	\$3,251.68	\$1,000	\$1,000	\$1,000.000	X03745		
2017	Ford	F-150	Sm. Flatbed PW	4YRNBN20219C052507	\$4,949.00	\$1,000	\$1,000	\$1,000.000	X02743		
2009	Anderson	ED28277TL	1R9GD252X7M356172	\$8,669.00	\$1,000	\$1,000	\$1,000.000	X09947			
2007	Ron	325KR254HD-LP	1Q-Fabbed PW	4L5U72A84E015712	\$5,776.00	\$1,000	\$1,000	\$1,000.000	X09750		
2008	Belknap	F-14N	Fire-Trailer PW	4L5U72A84E015712	\$5,669.00	\$1,000	\$1,000	\$1,000.000	X09750		
2010	Spartan	GA00M-3164	Ladder Fire Tr14	4STAX2991AC073134	\$620,000.00	\$1,000	\$1,000	\$1,000.000	X03911		
2015	EQ-Tech	ATV Hauler	Fire Department	16VAX1212-308040	\$2,600.00	\$1,000	\$1,000	\$1,000.000	X077440		
2015	Mercedes	Sprinter AEV	Public Works	WD3P3PEGCC5C5685953	\$9,500.00	\$1,000	\$1,000	\$1,000.000	X03917		
2014	Ford	F-150	SUP14 - Fire	1L7FW1CTSEK125588	\$12,850.00	\$1,000	\$1,000	\$1,000.000	X02525		
2015	Freightliner	Rescue	Fire-Trailer	1PACW013HGG314	\$267,411.00	\$1,000	\$1,000	\$1,000.000	X07438		
2015	Ford	F-250	Utilities	1F7FRC711F-25931	\$17,750.00	\$1,000	\$1,000	\$1,000.000	X-2473		
2015	Ford	F-250	Public Works	1F7X1834HFB09694	\$17,600.00	\$1,000	\$1,000	\$1,000.000	X-2473		
2015	Ford	F-350	Public Works	1F7X1834HFB09693	\$18,100.00	\$1,000	\$1,000	\$1,000.000	X-2473		
2015	GMC	AEV	Fire Rescue MED16	WD3P3PEGCC5C5682678	\$109,998.00	\$1,000	\$1,000	\$1,000.000	212530	added 5/5/15	
2016	Isuzu	NPR-Dump	Public Works	JAE5116567900322	\$2,439.00	\$1,000	\$1,000	\$1,000.000	X02490		
2016	Chevy	Silverado plow	WW Utilities	1GCRNC5C57166672	\$12,600.00	\$1,000	\$1,000	\$1,000.000	X02495	added 2/12/16	
2016	Chevy	Silverado plow	WW Utilities	1GCRNC5C57166673	\$17,800.00	\$1,000	\$1,000	\$1,000.000	X02493	added 2/12/16	
2017	Kenworth	Steed Haul	WW Utilities	1NKZ14DX4H1157649	\$160,000.00	\$1,000	\$1,000	\$1,000.000	X02490	added 7/22/16	
2017	ISUZU	Dump-Trailer	Utilities	1U2214ZK000000000	\$1,650.00	\$1,000	\$1,000	\$1,000.000	X02488	added 3/17/17	
2014	Shacman	Tractor	Works Utility Trailer	25M00W1DABE11826	\$1,285.00	\$1,000	\$1,000	\$1,000.000	X02481		
2017	Chevy	Silverado 2500HD	Public Works	16C0C1UFG91230722	\$14,100.00	\$1,000	\$1,000	\$1,000.000	221677	added 2/12/16	
2017	Chevy	2500 Crane	Utilities	1G06K1C8N223143	\$7,400.00	\$1,000	\$1,000	\$1,000.000	X-2473	added 9/27/2017	
2018	Unimount	Unimount Trailer	Utilities	1XWU11414105	\$1,875.00	\$1,000	\$1,000	\$1,000.000	X-24737	added 2/10/2018	
2018	Ram	3500 SLT Pickup	Fire - C-14	3C3K3D00Q115959	\$343,089.00	\$1,000	\$1,000	\$1,000.000	X-24848	added 2/15/2019	
2018	Chevy	Silverado 2500	Fire - F-1M14	1GCU1Kuev3J215460	\$19,520.00	\$1,000	\$1,000	\$1,000.000	221694	added 4/22/2018	
2018	SAC	SAC	Utilities Director	3GCU1MEGJ6320818	\$24,580.00	\$1,000	\$1,000	\$1,000.000	XF4739	added 4/20/2018	
2018	Chevrolet	Silverado 1500 4WD	Parks	IGCVM-E41230055	\$19,640.00	\$1,000	\$1,000	\$1,000.000	X02482	added 8/16/18	
2018	Chevrolet	Silverado 1500 2WD	Parks	IGCVM-E41230056	\$11,175.00	\$1,000	\$1,000	\$1,000.000	X02481	added 8/16/18	
2018	Peterbilt	Pumper	Fire Engine E14	1GCRNC5E1421333084	\$5,249.00	\$1,000	\$1,000	\$1,000.000	X02480	added 8/20/2018	
2018	Ford	F-250 SuperCab SWW	Parks	1F7FRC711F-25930	\$5,249.00	\$1,000	\$1,000	\$1,000.000	X02489	added 7/02/2018	
2018	Ford	F-350	Express Van	Parks	1GAGZGNFG110134044	\$26,072.00	\$1,000	\$1,000	\$1,000.000	XG84845	added 10/23/2018
2019	SAC	SAC	Utility Tractor	16V-14X1011189	\$1,783.00	\$1,000	\$1,000	\$1,000.000	X-24845	added 11/15/18	
2019	Ford	Expo-er	Fire FM14	1F7X1834HFB09679	\$18,518.00	\$1,000	\$1,000	\$1,000.000	XG847	added 12/3/18	
2019	Ford	Transit	Fire-Med 15	1F7X1834HFB096103	\$10,055.00	\$1,000	\$1,000	\$1,000.000	XE3492	added 2/6/2017	
2019	Chevrolet	Silverado 3500	Parks	1G-AVYV1K87189702	\$42,753.00	\$1,000	\$1,000	\$1,000.000	XG8241	added 3/12/2019	
2019	Chevrolet	Silverado 2500	Parks	1G61K8K1YK316156	\$40,643.00	\$1,000	\$1,000	\$1,000.000	XG6342	added 2/12/2019	
2019	Chevrolet	Silverado-Dump Truck	Utilities	1H7K4PVA1K141210	\$55,152.00	\$1,000	\$1,000	\$1,000.000	XG6345	added 10/17/2019	
2020	Ford	F-250 SuperCab SRW	Utilities	1F7FRC711F-25930	\$10,500.00	\$1,000	\$1,000	\$1,000.000	XL2679	added 11/18/2019	
2020	Chevrolet	Silverado 1500	Public Works	1GCRNC5E1421333083	\$25,598.00	\$1,000	\$1,000	\$1,000.000	XG8247	added 4/27/2020	
2020	Chevrolet	Silverado 1500	Building	1GCRNC5E1421333086	\$25,898.00	\$1,000	\$1,000	\$1,000.000	XE3508	added 7/22/2020	
2020	Chevrolet	Silverado 1500	Fire - F-1M14	1GCRNC5E1421333085	\$25,898.00	\$1,000	\$1,000	\$1,000.000	XE4339	added 11/17/2020	
2021	Dodge	Charger	Fire SWAT	1A	\$1,300.00	\$1,000	\$1,000	\$1,000.000	XH4231	added 12/29/2020	
2022	Ford	F-150	Fire - F-1M14	1GCRNC5E1421333084	\$25,405.00	\$1,000	\$1,000	\$1,000.000	XG8481	added 6/9/2021	
2022	Ford	F-150	4X4 Van Cab	1GCRNC5E1421333082	\$25,445.00	\$1,000	\$1,000	\$1,000.000	XH4234	added 6/9/2021	
2022	Chevrolet	Silverado Double Cab	Parks	1GCRNC5E1421333080	\$25,435.00	\$1,000	\$1,000	\$1,000.000	XH4235	added 6/23/2021	
2022	Chevrolet	Silverado 2500HD	Parks	1GCRNC5E1421333079	\$25,625.00	\$1,000	\$1,000	\$1,000.000	XH4236	added 6/23/2022	
2022	Ford	Ranger	Public Works	1F7FRC711F-25930	\$23,159.00	\$1,000	\$1,000	\$1,000.000	XH4237	added 6/23/2022	
2022	Ford	Ranger	City Manager	1F7FRC711F-25930	\$1,581.00	\$1,000	\$1,000	\$1,000.000	XF4739	added 8/15/2022	
2022	Ford	M2 AEV Type1 Ambulance	Fire - R15	1FVACWMD3N1HBN2551	\$288,451.00	\$1,000	\$1,000	\$1,000.000	XJ2368	added 9/16/2022	
2022	Chevrolet	3500 AEV Type1 Ambula	Units	1G83WSEY1NF223904	\$159,434.00	\$1,000	\$1,000	\$1,000.000	XJ2368	added 9/15/2022	
2022	Ford	F-250 4x2 Super Cab	Units	1F-AHP21H5G1357	\$1,586.00	\$1,000	\$1,000	\$1,000.000	XJ2371	added 11/20/2022	
2017	Ford	Auris	Fire	1F-AHP21H5G1357	\$1,508.00	\$1,000	\$1,000	\$1,000.000	XJ2375	added 3/7/2017	
2017	Ford	Taurus	Parks	1F-AHP21H5G1357	\$1,507.00	\$1,000	\$1,000	\$1,000.000	XJ2374	added 1/20/2017	
2017	Ford	Mustang	Units	1F-AHP21H5G1357	\$1,507.00	\$1,000	\$1,000	\$1,000.000	XJ2373	added 1/20/2017	
2017	Ford	Mustang	Units	1F-AHP21H5G1357	\$1,507.00	\$1,000	\$1,000	\$1,000.000	XJ2372	added 1/20/2017	
2023	Chevrolet	Silverado 2nd Row Cab	Units	1G30WV1D7P243594	\$28,248.00	\$1,000	\$1,000	\$1,000.000	XH759	Added 8/4/23	
2023	Chevrolet	Silverado 2nd Row Cab	Units	1G30WV1D7P243594	\$28,248.00	\$1,000	\$1,000	\$1,000.000	XH759	Added 8/4/23	
2023	SVM	Enclosed trailer	Units	1G30WV1D7P243594	\$1,000.00	\$1,000	\$1,000	\$1,000.000	XJ2368	Added 9/6/23	

#	Year	Make	Model	Vehicle Type	Vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	City #	Changes made
2018	Chevrolet	Silverado 1500 2WD	Parks	1GCRCNFH2UZ333064	\$23,283	\$1,000	\$1,000	\$1,000	\$1,000.000	XG5841	604	added 8/16/18 (public works)
2018	Chevrolet	Express Van	Parks	1GАЗ35НFG1J1341044	\$29,300	\$1,000	\$1,000	\$1,000	\$1,000.000	XG5845	605	added 10/23/2018 (all park employees)
2017	Ford	Taurus	Parks	1FAHP2L84HG113969	\$11,600	\$1,000	\$1,000	\$1,000	\$1,000.000	XJ2374	607	Added 1/30/23 (all park employees)
2018	Ford	Taurus	Parks	1FAHP2L84JG115974	\$6,500.00	\$1,000	\$1,000	\$1,000	\$1,000.000	XJ9765	610	Added 1/12/24 (all park employees)
2025	Ford	Maverick	Parks	3FTTW6A34SRAT4835	\$28,398.00	\$1,000	\$1,000	\$1,000	\$1,000.000	XM3161	611	Added 7/16/2025 (all park employees)

#	Year	Make	Model	Vehicle Type	Vin #	Cost New	Col. Ded	Comp	Auto Liability	Taq	Chv #	Changes made
2007	Ford	F150	Plu Marina	1FTR12W7KB40473	\$13,478	\$1,000	\$1,000	\$1,000,000	X031357	801		Sean Cannon, Matthew McJunkin, Danielle Na-o, Antoinette Smith, Karen Diehl, Kevin Martin, Jill Gammon, Genesis Villaloro, Paul Cole
2017	Ford	Taurus	Marina	1FADP2LBBHG113651	\$10,700	\$1,000	\$1,000	\$1,000,000	X12373	802	Added 1/30/23	Sean Cannon, Matthew McJunkin, Danielle Na-o, Antoinette Smith, Karen Diehl, Kevin Martin, Jill Gammon, Genesis Villaloro, Paul Cole

#	Year	Make	Model	Vehicle Type	Vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	City #	Changes made
2021	Chevy	1500 Silverado	Code	1GCRWBEK0MZ347471	\$25,145	\$1,000	\$1,000	\$1,000	\$1,000,000	XG5843	512	added 7/2/2021
2018	Ford	Taurus	Code	1FAHP2L84JG136061	\$8,300.00	\$1,000	\$1,000	\$1,000	\$1,000,000	XJ9766	513	Added 1/1/2024

#	Year	Make	Model	Vehicle Type	vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	Cty #	Changes made	Premiums
	2022	Ford	Ranger	Risk/Planning	1FTER1E16NL024320	\$23,788.00	\$1,000	\$1,000	\$1,000.000	XJ6239	100	added 5/20/2022	Risk Dept/Planning Dept/Brian Bradley
	2022	Ford	Ranger 4x4	City Manager	1FTER4F14NL041634	\$31,581.00	\$1,000	\$1,000	\$1,000.000	XJ2369	101	added 8/15/2022	George Garrett
	2019	Ford	Taurus	General Services	1FAHP2L87KG102441	\$12,400.00	\$1,000	\$1,000	\$1,000.000	XJ2360		Added 12/30/2024	
	2019	Ford	Taurus	General Services	1FAHP2L87KG103573	\$10,380.00	\$1,000	\$1,000	\$1,000.000	XJ6928		Added 12/30/2024	
	2020	Ford	Explorer	General Services	1FM5K8AB2LGB67930	\$15,843.00	\$1,000	\$1,000	\$1,000.000	XJ2680		Added 9/23/2025	
	2020	Ford	Explorer	General Services	1FM5K8AB2LGB67837	\$20,005.00	\$1,000	\$1,000	\$1,000.000	XJ2681		Added 9/23/2025	(IT) (public works)

(IT) (Code)

Year	Make	Model	Vehicle Type	Vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	Changes made
2013	Ford	Ambulance	Fire-Rescue R15	3FRNF6GZ7DV785161	\$176,950	\$1,000	\$1,000	\$1,000,000	231415	
2007	Pierce	Custom Contender	Fire Engine - E15	4P1C0C1157406739	\$337,050	\$1,000	\$1,000	\$1,000,000	XA2738	
2007	Pierce	International	Fire Pumper-E16 (Reserve)	1HTMKR77H434779	\$312,000	\$1,000	\$1,000	\$1,000,000	212329	added back 10/1/2015
2009	Pierce	Plumier	Tanker Fire-T14	1HTMVG5A27791094123	\$295,000	\$1,000	\$1,000	\$1,000,000	212832	
2009	Lark	Trailer	Fire Trailer	5RFB142X9D074909	\$32,250	\$1,000	\$1,000	\$1,000,000	XB9748	
2010	Spartan	Rosenbauer	Ladder Fire-T14	4S7AX291TAC073134	\$620,000	\$1,000	\$1,000	\$1,000,000	XC3911	
2014	Big Tex	ATV-Trailer	Fire Department	16VAX1212F3018040	\$2,000	\$1,000	\$1,000	\$1,000,000	XD7440	
2014	Ford		Fire - SUT14	1FTFW1C76KE25688	\$23,733	\$1,000	\$1,000	\$1,000,000	212825	
2015	Freightliner	Rescue	Fire R14	1FVACM0U3HGG3314	\$267,411	\$1,000	\$1,000	\$1,000,000	XD7438	
2015	AEV	Sprinter	Fire Rescue MED16	WD33PE7CC9P582678	\$19,998	\$1,000	\$1,000	\$1,000,000	212830	added 5/5/15
2018	Ram	3500 SLT Pickup	Fire Dept - C14	3C63R3D1QJG113959	\$62,390	\$1,000	\$1,000	\$1,000,000	XE9484	added 2/5/2018
2018	Chevy	Silverado 2500	Fire Dept - F1M14	1GC1Kuey1F2154669	\$45,337	\$1,000	\$1,000	\$1,000,000	221684	added 4/2/2018
2018	Pierce	Pumper	Fire-Engine E14	4P1BAAFF8J8019139	\$554,294	\$1,000	\$1,000	\$1,000,000	XG5840	added 8/23/18
2018	Big Tex	ATV-Trailer	Fire	16VFX162X13011097	\$4,590	\$1,000	\$1,000	\$1,000,000	XG5844	added 10/18/2018
2019	Ford	Explorer	Fire-FM14	1FMK8AR2RKGK12779	\$28,638	\$1,000	\$1,000	\$1,000,000	XG5847	added 12/3/18
2018	Ford		Fire - Med 16	1FDEWV2XV2JK836183	\$160,205	\$1,000	\$1,000	\$1,000,000	XE9492	added 2/6/19
2012	Dodge	Charger	Fire - SWAT14	2C3CDXA66CH240180	\$5,800	\$1,000	\$1,000	\$1,000,000	XH4334	added 6/9/2021
2022	Chevrolet	Silverado 2500 HD	Fire - C14	2GC4Y1EY77N1200377	\$249,626	\$1,000	\$1,000	\$1,000,000	XH4339	added 5/20/2022
2022	Freightliner	M2 AEV Type1 Ambulance	Fire R15	1FVACM0D3HNN92551	\$289,451.00	\$1,000	\$1,000	\$1,000,000	XJ2368	added 8/16/2022
2017	Chevrolet	3500 AEV Type1 Ambulance	Fire Med216	1GBSW1SEY1NF237704	\$158,434.00	\$1,000	\$1,000	\$1,000,000	XJ2370	added 9/15/2022
2019	Ford	Taurus	Fire - SWAT	1FAHP2L85KG103572	\$13,050.00	\$1,000	\$1,000	\$1,000,000	XJ2359	Added 11/26/2024
2017	Ford	Taurus	Fire	1FAHP2L87HG113657	\$12,260.00	\$1,000	\$1,000	\$1,000,000	XL6935	Karly Good Inspections (MCSD Donated)

#	Year	Make	Model	Vehicle Type	VIN #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	City #	Changes made
2011	Ford	Ranger	Utilities	1FTRG14D3BRP290071	\$23,300	\$1,000	\$1,000	\$1,000	\$1,000	X14332	302	DELETED
2015	Ford	F-250	Utilities	1FTBF2A68PFEC26930	\$33,246	\$1,000	\$1,000	\$1,000	\$1,000	X12474	304	
2015	Ford	F-550	Utilities	1FTFR3C11FE26931	\$33,246	\$1,000	\$1,000	\$1,000	\$1,000	X12473	305	
2016	Chevy	Silverado 1500	WW Utilities	1GCRCKNEC8GZ182261	\$28,544	\$1,000	\$1,000	\$1,000	\$1,000	XE2515	309	added 2/12/16
2016	Chevy	Silverado 1500	WW Utilities	1GCRCKNEC5GZ186672	\$28,544	\$1,000	\$1,000	\$1,000	\$1,000	XE2516	310	added 2/12/16
2016	GMC	Sierra	WW Utilities	1GTPLEGG165293	\$28,074	\$1,000	\$1,000	\$1,000	\$1,000	XE2483	311	added 7/22/16
2016	Kenworth	Sledge Haul	WW Utilities	1NKZL40XHJ40XH40XH	\$28,224	\$1,000	\$1,000	\$1,000	\$1,000	XE2480	312	added 3/11/17
2017	USMP	Dump Trailer	Utilities/Pworks	432DN24BXH0005998	\$6,605	\$1,000	\$1,000	\$1,000	\$1,000	X56248	313	added 9/29/2017
2017	Chevrolet	25000 Crane	Utilities	1GCGCUEJG8H2323143	\$47,154	\$1,000	\$1,000	\$1,000	\$1,000	XE4732	317	added 9/20/2018
2018	GMC	1500 Crew Cab	Utilities	1GTCU2LECJG8H2320618	\$30,649	\$1,000	\$1,000	\$1,000	\$1,000	XE4738	318	added 7/30/2018
2018	Ford	F-250 SuperCab SRW	Utilities	1FDXJ2A68JEC66150	\$35,388	\$1,000	\$1,000	\$1,000	\$1,000	XG5839	318	added 10/17/2019
2019	Big Tex	22' Utility Trailer	Utilities	16VEUX22K9K2067932	\$7,790	\$1,000	\$1,000	\$1,000	\$1,000	XG5846	319	added 11/13/2019
2019	Chevrolet	Silverado-Dump Truck	Utilities	1HTKHK1PKV1KH43126	\$55,152	\$1,000	\$1,000	\$1,000	\$1,000	XG5245	320	added 11/13/2019
2019	Ford	F-2500 SuperCab SRW	Utilities	1FDXJ2A68K6GK20610	\$38,590	\$1,000	\$1,000	\$1,000	\$1,000	XE2678	321	added 8/23/2021
2022	Ford	F-2500 4x4 Reg Cab	Utilities	1FDBF2B94NEC335796	\$32,443.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4335	322	added 8/23/2021
2022	Ford	F-250 4x2 Super Cab	Utilities	1FDXJ2A695NEF420599	\$38,665.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4371	323	added 11/13/2022
2023	Chevrolet	Silverado 2wd Reg Cab	Utilities	1G80WVLE70PF243696	\$50,248.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4760	324	Added 8/4/23
2023	Chevrolet	Silverado 2wd Reg Cab	Utilities	1G80WVLE70PF243664	\$50,248.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4759	325	Added 8/4/23
2023	SWTM	Enclosed Trailer	Utilities	1S907X142PMW982405	\$7,680.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4764	326	Added 9/6/23
2023	Chevrolet	Silverado 4wd Reg Cab	Utilities	1G83Y3SEY2189895	\$50,408.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4761	327	Added 10/4/2023
2024	Chevrolet	Enclosed Trailer	Utilities	1S907X126GRM982506	\$5,880.00	\$1,000	\$1,000	\$1,000	\$1,000	DNU4458	328	Added 3/19/2024
2024	Chevrolet	Silverado 2500	Utilities	1GCG5M1E70RF291802	\$57,511.00	\$1,000	\$1,000	\$1,000	\$1,000	XC3919	329	Added 5/22/2024
2023	Freightliner	114SD 6x4	VacCon-Utilities	3ALH53E1FSDV48894	\$86,508.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4333	330	Replaced 5/15/2024
2025	Chevrolet	Silverado 2500	Utilities	1GCSA5TE75SF192350	\$81,016.00	\$1,000	\$1,000	\$1,000	\$1,000	XH4329	332	Added 12/12/2025
2024	Anvill	Enclosed Cargo Trailer	Utilities	7FYBE1223RD031963	\$7,299.00	\$1,000	\$1,000	\$1,000	\$1,000	XE6933	333	Added 2/11/2025
2025	GMC	Sierra	Utilities	3GTTUUAED2SG237658	\$51,534.00	\$1,000	\$1,000	\$1,000	\$1,000	XH6934	334	Added 4/25/2025

#	Year	Make	Model	Vehicle Type	VIN #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	City #	Changes made
Public Wor	2007	Ford	F-150 PIU	Public Works	1FTRF12239TB40472	\$11,258	\$1,000	\$1,000	\$1,000,000	221678	203	
Public Wor	2007	Southeast	SM-07X14T	Trailer PW	15007X4717WB903027	\$4,595	\$1,000	\$1,000	\$1,000,000	XA2739	215	
Public Wor	2009	Anderson	ED-20711	Flatbed PW	1GVBW01219C050571	\$4,949	\$1,000	\$1,000	\$1,000,000	XK8743	214	
Public Wor	2007	Ron	325KG25H-LP	LQ Flatted PW	1TR95D252X7M356172	\$8,669	\$1,000	\$1,000	\$1,000,000	XK8747	213	
Public Wor	2008	Behrke	T14NT	Trunk Trailer PW	1FL5T1712X9F157122	\$5,770	\$1,000	\$1,000	\$1,000,000	XK8747	217	
Public Wor	2015	Ford	E250	Public Works	1F7T528196F105884	\$32,000	\$1,000	\$1,000	\$1,000,000	XE2478	207	added 8/25/2015
Public Wor	2016	Isuzu	NPR Dump	Public Works	1A1E54106G1590322	\$58,439	\$1,000	\$1,000	\$1,000,000	XE9491	208	
Public Wor	2004		Snowblower	Trailer	2SWUW11A149318226	\$1,200	\$1,000	\$1,000	\$1,000,000	XH4331	220	
Public Wor	2018	Triple Crown	Utility-Medium Trailer	Pworks	1XNU161217A4J081505	\$1,876	\$1,000	\$1,000	\$1,000,000	XK4737	217	added 2/1/2018
Public Wor	2018	Chevrolet	Silverado 1500 AWD	Pworks	1GCVKUNEC4Z155955	\$2,373	\$1,000	\$1,000	\$1,000,000	XG5842	211	added 6/16/18
Public Wor	2019	Chevrolet	Silverado 1500	Pworks	1GCVKUNEC4Z155955	\$2,373	\$1,000	\$1,000	\$1,000,000	XG5842	212	added 3/1/2019
Public Wor	2019	Chevrolet	Silverado 3500	Pworks	1GCVKVCYF1B9702	\$42,753	\$1,000	\$1,000	\$1,000,000	XG5841	219	added 3/1/2019
Public Wor	2021	Triple Crown	5x8 Utility Trailer	Pworks	1XNU08171M117425	\$4,030	\$1,000	\$1,000	\$1,000,000	XH4330	220	added 12/28/2020
Public Wor	2020	SWMT	T14 Enclosed Trailer	Pworks	1S80711A13LWMB93209	\$1,319	\$1,000	\$1,000	\$1,000,000	XH4331	220	added 12/28/2020
Public Wor	2022	Chevrolet	Silverado Double Cab Pworks	Pworks	1GCVKUNEC4Z155955	\$22,768	\$1,000	\$1,000	\$1,000,000	XK4738	232	added 5/28/2022
Public Wor	2012	Ford	Ranger	Pworks	1FTRF1EHN0D246538	\$9,943	\$1,000	\$1,000	\$1,000,000	XK3917	227	
Public Wor	2015	Mercedes	Sprinter AEV	Pworks	1W03P77CC56365953	\$55,502	\$1,000	\$1,000	\$1,000,000	BIF2783	228	added 2/24/2015
Public Wor	2015	Ford	F-350	Pworks	1FTRF1G5FEC07283	\$47,345	\$1,000	\$1,000	\$1,000,000	XH1972	222	added 11/22/2013
Public Wor	2023	Chevrolet	Silverado 4wd 2500	Public Works	1GCVLDEDXP22827373	\$50,105	\$1,000	\$1,000	\$1,000,000	XJ8763	229	
Public Wor	2023	Chevrolet	Silverado 4wd 1500	Public Works	1GCVKUNEC4Z155955	\$44,498	\$1,000	\$1,000	\$1,000,000	XG6598	230	
Public Wor	2024	Chevrolet	Silverado 1500	Public Works	1GCVKUNEC4Z155955	\$44,498	\$1,000	\$1,000	\$1,000,000	XK4697	231	added 10/19/2024
Public Wor	2017	Ford	F-150 XL	Public Works	1FTRF1EHB275078	\$13,400	\$1,000	\$1,000	\$1,000,000	XJ8767	230	Added 11/2/24
Public Wor	2020	Chevrolet	Silverado 1500	Pworks	1GCVKUNEC4Z155955	\$25,559	\$1,000	\$1,000	\$1,000,000	XG5247	606	added 4/27/2020
Public Wor	2017	Chevrolet	Silverado 2500HD	Pworks	1GCVKUNEC4Z155955	\$51,515	\$1,000	\$1,000	\$1,000,000	XJ8767	609	
Public Wor	2025	Forest River	Enclosed Trailer	Pworks	4NPH156251U47291	\$75,654	\$1,000	\$1,000	\$1,000,000	XK8931	230	Added 12/8/2025
Public Wor	2025	PJD3-X12	Dump Trailer	Pworks	4NPH156251U47291	\$89,444	\$1,000	\$1,000	\$1,000,000	XK8932	230	Added 12/8/2025
Public Wor	2025	PJD3-X12	Dump Trailer	Pworks	4NPH156251U47291	\$50,839	\$1,000	\$1,000	\$1,000,000	XJ2676	233	Added 6/17/2025
Public Wor	2025	Chevrolet	Silverado 1500 AWD	Public Works	1GCVKUNEC4Z155955	\$50,516	\$1,000	\$1,000	\$1,000,000	XJ2677	234	Added 6/17/2025
Public Wor	2025	Chevrolet	Silverado 2500HD	Public Works	1GCVKUNEC4Z155955	\$54,687	\$1,000	\$1,000	\$1,000,000	XL6935	234	Added 6/17/2025
Public Wor	2025	BIG Tex	Utility trailer	Public Works	16VU10271SD0039184	\$11,474	\$1,000	\$1,000	\$1,000,000	XL6937	234	Added 6/17/2025
Public Wor	2016	Anvil	Enclosed Cargo Trail	Public Works	17FV1E1821SD0039184							
Public Wor	2007	Ford	F-150 P/U	1FTRF12239TB40472		221678	203	No Des.	Driver/not currently running. Will be auctioned			
Public Wor	2018	Izuzu	NPR	JALE15165G7900322		97490	208	No Des.	Driver/ Dump Truck			
Public Wor	2019	Chevy		3500 1GCAVQY1K1A88702			228	City Row	Landscaping Crew			
Public Wor	2019	Chevy		2500 1GCAVLEP79171077			211	US 1 Row	Crew/ City ROW/Medians Landscaping Crew			
Public Wor	2025	Chevy		2500 1GCAVQY1K1A861156			233	US 1 Row	Landscaping Crew			
Public Wor	2025	Chevy		1500 1GCAKUD35228210			234	US 1 Row	Landscaping Crew			
Public Wor	2018	Chevy		2500 1GCAKLE77272693			211	Infrastructure	Maintenance			
Public Wor	2015	Ford	F-350	1FTRF1G5FEC07283			227	Infrastructure	Maintenance			
Public Wor	2015	Ford	F-250	1FTXV864FBB95684			207	Facilities	Landscaping Crew			
Public Wor	2022	Chevy		1500 1GCAKUD35228210			220	Facilities	Landscaping Crew			
Public Wor	2017	Ford	F-150 P/U	1FTRF1E1821SD0039184			225	Facilities	Landscaping Crew			
Public Wor	2018	Chevy		1500 1GCKVNEH21233064			204	Facilities	Landscaping Crew/ City Wide Refuse Pickup			
Public Wor	2012	Merri		16CCKM895XG58442			606	Facilities	Maintenance			
Public Wor	2017	Chevy		1GCGCUEG9H723072			609	Facilities	Maintenance			
Public Wor	2018	Ford		1FAHP28X1G15574			610	Facilities	Cleaning Crew/Facilities Maintenance			
Public Wor	2020	Ford		1FM5K8AB2LG6783			235	Facilities	Cleaning Crew			
Public Wor	2022	Ford	Ranger	1FTRF1E1821SD0039184			232	Project	Management			
Public Wor	2024	Chevy					231	Public Works	Director			

Public Works Director

Paul Bart

Paul Bart

#	Year	Make	Model	Vehicle Type	Vin #	Cost New	Coll Ded	Comp Ded	Auto Liability Coverage	Tag	City #	Changes made	Premiums
2020	Chevrolet	Silverado 1500	Building	1GCRWCERK81Z300466	\$29,598	\$1,000	\$1,000	\$1,000,000	XE2508	400			
2023	Nissan	Titan	Building	1N6AA1EE4PN17635	\$40,160.00	\$1,000	\$1,000	\$1,000,000	XJ2357	401	Added 2/1/24	(on loan) Code Gerard Rousin, Steven Buglione	
2023	Nissan	Titan	Building	1N6AA1EE6PN17880	\$40,160.00	\$1,000	\$1,000	\$1,000,000	XJ2375	402	Added 2/1/24	Gerard Rousin, Steven Buglione	